

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103 TAC 1215B
Galvanized Pipe Fittings
Water and Sewer Department
Bid Opening Day: May 8, 2025

Senior Buyer: Angie Tune
atune@cityoftulsa.org
Please contact if you have any questions

Delivery:

If Your Bid is Accepted, state the number of Days You need to deliver the Supplies and/or begin providing Services.

You must be able to deliver the Supplies and/or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity

Pricin	Pricing:											
				Core & Main LP			Utility Supply Co.			Wurth USA, Inc.		
Item	Description	Est. Annual QTY	Unit Cost	Extended Cost	Manufacturer and Part Number	Unit Cost	Extended Cost	Manufacturer and Part Number	Unit Cost	Extended Cost	Manufacturer and Part Number	
	CAPS – Must meet ASTM 53 and ASTM A120				PPEOO			DMI			MIDI AND INDUCTRIES	
1	Galvanized Cap 3/4"	3	\$5.25	\$15.75	BRECCO 400-230-11400	\$1.20	\$3.60	BMI 36505	\$1.78	\$5.34	MIDLAND INDUSTRIES 64472	
2	Galvanized Cap 1"	3	\$5.76	\$17.28	BRECCO 400-203-11420	\$1.30	\$3.90	BMI 36506	\$2.16	\$6.48	MIDLAND INDUSTRIES 64475	
3	Galvanized Cap 1-1/4"	1	\$8.73	\$8.73	BRECCO 400-230-11440	\$1.90	\$1.90	BMI 36507	\$3.14	\$3.14	MIDLAND INDUSTRIES 64476	
4	Galvanized Cap 1-1/2"	1	\$10.68	\$10.68	BRECCO 400-230-11460	\$2.40	\$2.40	BMI 36508	\$4.01	\$4.01	MIDLAND INDUSTRIES 64477	
5	Galvanized Cap 2"	18	\$13.50	\$243.00	BRECCO 400-230-11480	\$3.05	\$54.90	BMI 36509	\$5.07	\$91.26	MIDLAND INDUSTRIES 64478	
6	Galvanized Cap 3"	1	\$34.72	\$34.72	BRECCO 400-230-11520	\$11.60	\$11.60	BMI 36511	\$19.53	\$19.53	MIDLAND INDUSTRIES 64480	
7	Galvanized Cap 4"	1	\$68.94	\$68.94	BRECCO 400-203-11560	\$23.00	\$23.00	BMI 36512	\$38.79	\$38.79	MIDLAND INDUSTRIES 64481	
	ELLS – Must meet ASTM 53 and ASTM A120											
8	Galvanized ELL, 45 Degree 3/4"	5	\$7.59	\$37.95	BRECCO 400-230-05920	\$1.70	\$8.50	BMI 36205	\$2.85	\$14.25	MIDLAND INDUSTRIES 64184	
9	Galvanized ELL, 45 Degree 1"	1	\$8.70	\$8.70	BRECCO 400-203-05940	\$1.95	\$1.95	BMI 36206	\$3.27	\$3.27	MIDLAND INDUSTRIES 64185	
10	Galvanized ELL, 45 Degree 1-1/4"	2	\$15.87	\$31.74	BRECCO 400-230-05960	\$3.55	\$7.10	BMI 36207	\$5.96	\$11.92	MIDLAND INDUSTRIES 64186	
11	Galvanized ELL, 45 Degree 2"	10	\$28.00	\$280.00	BRECCO 400-230-06000	\$6.30	\$63.00	BMI 36209	\$10.59	\$105.90	MIDLAND INDUSTRIES 64188	
12	Galvanized ELL, Common 90 Degree 3/4"	55	\$4.20	\$231.00	BRECCO 400-230-04860	\$0.95	\$52.25	BMI 36305	\$1.58	\$86.90	MIDLAND INDUSTRIES 64104	
13	Galvanized ELL, Common 90 Degree 1"	10	\$7.86	\$78.60	BRECCO 400-203-04880	\$1.75	\$17.50	BMI 36306	\$2.94	\$29.40	MIDLAND INDUSTRIES 64105	
14	Galvanized ELL, Common 90 Degree 1-1/4"	5	\$12.09	\$60.45	BRECCO 400-203-04900	\$2.70	\$13.50	BMI 36307	\$4.54	\$22.70	MIDLAND INDUSTRIES 64106	
15	Galvanized ELL, Common 90 Degree 1-1/2"	5	\$15.93	\$79.65	BRECCO 400-230-04920	\$3.55	\$17.75	BMI 36308	\$5.98	\$29.90	MIDLAND INDUSTRIES 64107	
16	Galvanized ELL, Common 90 Degree 2"	90	\$26.55	\$2,389.50	BRECCO 400-203-04940	\$5.90	\$531.00	BMI 36309	\$9.96	\$896.40	MIDLAND INDUSTRIES 64108	
17	Galvanized ELL, Common 90 Degree 3"	5	\$74.00	\$370.00	BRECCO	\$24.75	\$123.75	ВМІ	\$41.71	\$208.55	MIDLAND INDUSTRIES	
	Galvanized ELL, Common 90 Degree 4"	2	\$128.30	\$256.60	400-230-04980 BRECCO	\$42.80	\$85.60	36311 BMI	\$72.20	\$144.40	64110 MIDLAND INDUSTRIES	
	Galvanized ELL, Common 90 Degree 6"	1	\$543.75		400-230-05000 BRECCO	\$181.30	\$181.30	36312 BMI	_	-	64112	
	Galvanized ELL, Street 3/4" 90 Degree	20	\$7.23	\$144.60	400-203-05020 BRECCO	\$1.60	\$32.00	36314 BMI	\$2.72	\$54.40	MIDLAND INDUSTRIES	
	Galvanized ELL, Street 1" 90 Degree	1	\$9.84	\$9.84	400-203-05680 BRECCO	\$2.20	\$2.20	36375 BMI	\$3.70	\$3.70	64164 MIDLAND INDUSTRIES	
	Galvanized ELL, Street 1-1/4" 90 Degree	1	\$16.56	\$16.56	400-230-05700 BRECCO	\$3.70	\$3.70	36376 BMI	\$6.21	\$6.21	64165 MIDLAND INDUSTRIES	
	Galvanized ELL, Street 1-1/2" 90 Degree	5	\$20.40	\$102.00	400-230-05720 BRECCO	\$4.55	\$22.75	36377 BMI	\$7.65	\$38.25	64166 MIDLAND INDUSTRIES	
	Galvanized ELL, Street 2" 90 Degree	56	\$35.35	\$1,979.60	400-230-05740 BRECCO	\$7.85	\$439.60	36378 BMI	\$13.27	\$743.12	64167 MIDLAND INDUSTRIES	
	Galvanized ELL, Street 2" 90 Degree Galvanized ELL, Street 3" 90 Degree	1	\$96.48	\$96.48	400-230-05760 BRECCO	•	\$32.10	36379 BMI	\$54.29	\$54.29	64168 MIDLAND INDUSTRIES	
					400-230-05800 BRECCO	\$32.10		36381 BMI			64170 MIDLAND INDUSTRIES	
26	Galvanized ELL, Street 4" 90 Degree TEES – Must meet ASTM 53 and ASTM A120	1	\$159.28	\$159.28	400-230-05820	\$53.10	\$53.10	36382	\$89.61	\$89.61	64171	
27	Galvanized Tee 3/4"	3	\$7.11	\$21.33	BRECCO 400-203-06360	\$1.60	\$4.80	BMI 36405	\$2.67	\$8.01	MIDLAND INDUSTRIES 64254	
28	Galvanized Tee 1"	3	\$11.61	\$34.83	BRECCO	\$2.60	\$7.80	ВМІ	\$4.36	\$13.08	MIDLAND INDUSTRIES	
	Galvanized Tee 1-1/2"	1	\$22.90	\$22.90	400-203-06380 BRECCO	\$5.10	\$5.10	36406 BMI	\$8.60	\$8.60	64255 MIDLAND INDUSTRIES	
	Galvanized Tee 2" X 2" X 1"	1	\$38.40	\$38.40	400-230-06420 BRECCO	\$8.55	\$8.55	36408 BMI	-	-	64257	
	Galvanized Tee 2"	9	\$38.22	\$343.98	400-230-07600 BRECCO	\$8.50	\$76.50	36496 BMI	\$14.34	\$129.06	MIDLAND INDUSTRIES	
	Galvanized Tee 2" Galvanized Tee 3" X 3" X 2"	1	\$110.86		400-230-06440 BRECCO	\$36.95	\$36.95	36409 BMI	-	-	64261	
	Galvanized Tee 3 × 3 × 2 Galvanized Tee 3"	1	\$80.26	\$110.86	400-230-08080 BRECCO	\$26.75	\$26.75	34581 BMI	\$43.15	\$43.15	MIDLAND INDUSTRIES	
				·	400-230-06480 BRECCO			36411 BMI			64260	
	Galvanized Tee 4" X 4" X 3"	1	\$221.78	\$221.78	400-230-08200 BRECCO	\$73.95	\$73.95	36588 BMI	- \$406.74	- \$406.74	MIDLAND INDUSTRIES	
35	Galvanized Tee 4" REDUCERS – Must meet ASTM 53 and ASTM A120	1	\$189.72	\$189.72	400-230-06500	\$63.25	\$63.25	36412	\$106.74	\$106.74	64251	
36	Galvanized Reducer 3/4" X 1/4"	1	\$7.35	\$7.35	BRECCO GCBL 0702C	\$1.45	\$1.45	BMI 36025	-	-		
	Galvanized Reducer 3/4" X 1/2"	1	\$5.73	\$5.73	GCPL0702C BRECCO	\$1.30	\$1.30	36025 BMI	-	_		
	Galvanized Reducer 1" X 1/2"	1	\$9.57	\$9.57	400-230-08780 BRECCO	\$2.15	\$2.15	36023 BMI	-	_		
	Galvanized Reducer 1" X 3/4"	14	\$8.88	\$124.32	400-230-08880 BRECCO	\$2.00	\$28.00	36028 BMI	_	 		
33	Salitating Council 1 / O/T	1-7	Ψ3.00	Ψ127.U2	400-230-08860	Ψ2.00	Ψ20.00	36027				

		Est.	Unit	Extended	Manufacturer		Extended	Manufacturer	Unit	Extended	Manufacturer
Item	Description	Annual QTY	Cost	Cost	and Part Number	Unit Cost	Cost	and Part Number	Cost	Cost	and Part Number
40	Galvanized Reducer 1-1/4" X 3/4"	4	\$12.18	\$48.72	BRECCO 400-230-08960	\$2.75	\$11.00	BMI 360632	-	-	
41	Galvanized Reducer 1-1/2" X 3/4"	3	\$15.69	\$47.07	BRECCO 400-230-09040	\$3.50	\$10.50	BMI 36037	-	-	
42	Galvanized Reducer 1-1/2" X 1"	4	\$15.69	\$62.76	BRECCO 400-230-09020	\$3.50	\$14.00	BMI 36036	-	-	
43	Galvanized Reducer 1-1/2" X 1-1/4"	1	\$14.82	\$14.82	BRECCO 400-230-09000	\$3.30	\$3.30	BMI 36035	-	-	
44	Galvanized Reducer 2" X 3/4"	3	\$25.59	\$76.77	BRECCO	\$5.70	\$17.10	ВМІ	_	_	
	Galvanized Reducer 2" X 1"	5	\$21.39	\$106.95	400-230-09140 BRECCO	\$4.75	\$23.75	36043 BMI	_	_	
	Galvanized Reducer 2" X 1-1/4"	2	\$22.59	\$45.18	400-230-09120 BRECCO	\$5.05	\$10.10	36042 BMI	_	_	
	Galvanized Reducer 2" X 1-1/2"		\$21.39	\$128.34	400-230-09100 BRECCO	\$4.75	\$28.50	36041 BMI			
		6	· ·		400-230-09080 BRECCO		·	36040 BMI	-	-	
	Galvanized Reducer 2-1/2" X 2"	9	\$44.10	\$396.90	400-230-09180 BRECCO	\$5.05	\$45.45	36046 BMI	-	-	
49	Galvanized Reducer 3" X 2"	4	\$55.36	\$221.44	400-230-09260 BRECCO	\$4.75	\$19.00	30652 BMI	-	-	
50	Galvanized Reducer 4" X 2"	4	\$126.75	\$507.00	400-230-09380	\$14.70	\$58.80	30658	-	-	
	Galvanized Reducer 4" X 3"	2	\$126.75	\$253.50	BRECCO 400-230-09340	\$18.50	\$37.00	BMI 36056	-	-	
	CROSSES – Must meet ASTM 53 and ASTM A120	_	400.40	***	BRECCO	40.00	^	ВМІ		****	MIDLAND INDUSTRIES
	Galvanized Cross 1"	1	\$29.46	\$29.46	400-230-08340 BRECCO	\$6.60	\$6.60	36626 BMI	\$11.08	\$11.08	64395 MIDLAND INDUSTRIES
	Galvanized Cross 2"	1	\$95.00	\$95.00	400-230-08400	\$22.00	\$22.00	36629	\$37.13	\$37.13	64398
	PLUGS – Must meet ASTM 53 and ASTM A120 Galvanized Plug S E 3/4"	20	\$5.07	\$101.40	BRECCO	\$1.15	\$23.00	ВМІ	_	_	
	Galvanized Plug, S.E. 3/4"	20	\$5.07 \$5.55	\$101.40	400-230-11660 BRECCO	\$1.15 \$1.25	\$23.00	36605 BMI	-	-	
	Galvanized Plug, S.E. 1"	16	\$5.55	\$88.80	400-230-11680 BRECCO	\$1.25	\$20.00	36606 BMI	-	-	
	Galvanized Plug, S.E. 1-1/2"	1	\$11.52	\$11.52	400-230-11720 BRECCO	\$2.60	\$2.60	36608 BMI	-	-	
	Galvanized Plug, S.E. 2"	14	\$14.61	\$204.54	400-230-11740 BRECCO	\$3.25	\$45.50	36609 BMI	-	-	
58	Galvanized Plug, S.E. 3"	4	\$40.44	\$161.76	400-2300-11780	\$9.00	\$36.00	36611	-	-	
	Galvanized Plug, S.E. 4"	5	\$83.97	\$419.85	BRECCO 400-230-11800	\$18.70	\$93.50	BMI 36612	-	-	
	NIPPLES – Must meet ASTM 53 and ASTM A120			****	BRECCO	40.05		ВМІ			
	Galvanized Nipple (All thread) 3/4"	28	\$4.11	\$115.08	550-155-08300 BRECCO	\$0.65	\$18.20	11500 BMI	-	-	MIDLAND INDUSTRIES
61	Galvanized Nipple 3/4" X 2"	25	\$4.47	\$111.75	550-155-08340 BRECCO	\$0.70	\$17.50	11520	\$1.44	\$36.00	56082 MIDLAND INDUSTRIES
62	Galvanized Nipple 3/4" X 3"	38	\$4.92	\$186.96	550-155-08380	\$0.75	\$28.50	BMI 11530	\$1.58	\$60.04	56084
63	Galvanized Nipple 3/4" X 4"	48	\$6.39	\$306.72	BRECCO 550-155-08420	\$1.00	\$48.00	BMI 11540	\$2.05	\$98.40	MIDLAND INDUSTRIES 56086
64	Galvanized Nipple 3/4" X 6"	40	\$9.15	\$366.00	BRECCO 550-155-08500	\$1.40	\$56.00	BMI 11560	\$2.91	\$116.40	MIDLAND INDUSTRIES 56090
65	Galvanized Nipple 3/4" X 8"	16	\$15.90	\$254.40	BRECCO 550-155-08580	\$2.45	\$39.20	BMI 11568	\$5.05	\$80.80	MIDLAND INDUSTRIES 56092
66	Galvanized Nipple 3/4" X 10"	15	\$17.64	\$264.60	BRECCO 550-155-08660	\$2.70	\$40.50	BMI 11570	\$5.61	\$84.15	MIDLAND INDUSTRIES 56094
67	Galvanized Nipple 3/4" X 12"	17	\$19.77	\$336.09	BRECCO 550-155-08700	\$3.00	\$51.00	BMI 11572	\$6.29	\$106.93	MIDLAND INDUSTRIES 56096
68	Galvanized Nipple (All thread) 1"	13	\$5.64	\$73.32	BRECCO 550-155-08720	\$0.90	\$11.70	BMI 11600	-	-	
69	Galvanized Nipple 1" X 3"	1	\$7.17	\$7.17	BRECCO 550-155-08780	\$1.10	\$1.10	BMI 11630	\$2.29	\$2.29	MIDLAND INDUSTRIES 56103
70	Galvanized Nipple 1" X 4"	15	\$8.64	\$129.60	BRECCO 550-155-08820	\$1.35	\$20.25	BMI 11640	\$2.77	\$41.55	MIDLAND INDUSTRIES 56105
71	Galvanized Nipple 1" X 6"	4	\$12.06	\$48.24	BRECCO 550-155-08900	\$1.85	\$7.40	BMI 11660	\$3.83	\$15.32	MIDLAND INDUSTRIES 56109
72	Galvanized Nipple 1" X 7"	7	\$20.13	\$140.91	BRECCO	\$3.05	\$21.35	ВМІ	\$6.41	\$44.87	MIDLAND INDUSTRIES
	Galvanized Nipple (All Thread) 1-1/4"	5	\$7.56	\$37.80	550-155-08940 BRECCO	\$1.15	\$5.75	11667 BMI	-	-	56110
	Galvanized Nipple 1-1/4" X 3"	1	\$8.91	\$8.91	550-155-09120 BRECCO	\$1.35	\$1.35	11700 BMI	\$2.85	\$2.85	MIDLAND INDUSTRIES
	Galvanized Nipple 1-1/4" X 4"	1	\$10.59	\$10.59	550-155-09180 BRECCO	\$1.65	\$1.65	11730 BMI	\$3.39	\$3.39	56123 MIDLAND INDUSTRIES
	Galvanized Nipple 1-1/4" X 6"	1	\$15.24	\$10.39	550-155-09220 BRECCO	\$2.35	\$2.35	11740 BMI	\$4.86	\$4.86	56125 MIDLAND INDUSTRIES
		-	-		550-155-09300 BRECCO		· ·	11760 BMI			56129 MIDLAND INDUSTRIES
	Galvanized Nipple 1-1/4" X 10"	5	\$29.52	\$147.60	550-155-09460 BRECCO	\$4.50	\$22.50	11770 BMI	\$9.40	\$47.00	56133
	Galvanized Nipple (All thread) 1-1/2"	8	\$8.88	\$71.04	550-155-09560 BRECCO	\$1.35	\$10.80	11800 BMI	-	-	MIDLAND INDUSTRIES
	Galvanized Nipple 1-1/2" X 3"	4	\$10.59	\$42.36	550-155-09620 BRECCO	\$1.65	\$6.60	11830 BMI	\$3.39	\$13.56	56143 MIDLAND INDUSTRIES
80	Galvanized Nipple 1-1/2" X 4"	4	\$14.22	\$56.88	550-1555-09660 BRECCO	\$2.05	\$8.20	11840 BMI	\$4.28	\$17.12	56145 MIDLAND INDUSTRIES
81	Galvanized Nipple 1-1/2" X 6"	8	\$18.24	\$145.92	550-155-09740	\$2.80	\$22.40	11860	\$5.80	\$46.40	56149
82	Galvanized Nipple 1-1/2" X 8"	3	\$28.32	\$84.96	BRECCO 550-155-09820	\$4.30	\$12.90	BMI 11868	\$9.01	\$27.03	MIDLAND INDUSTRIES 56151
83	Galvanized Nipple 1-1/2" X 10"	1	\$33.00	\$33.00	BRECCO 550-155-09900	\$5.00	\$5.00	ВМІ 11870	\$10.51	\$10.51	MIDLAND INDUSTRIES 56153
84	Galvanized Nipple 1-1/2" X 12"	1	\$37.74	\$37.74	BRECCO 550-155-09980	\$5.75	\$5.75	BMI 11872	\$12.02	\$12.02	MIDLAND INDUSTRIES 56155
85	Galvanized Nipple (All thread) 2"	13	\$12.48	\$162.24	BRECCO 550-155-10000	\$1.90	\$24.70	ВМI 11900	-	-	
86	Galvanized Nipple 2" X 3"	13	\$14.07	\$182.91	BRECCO 550-155-10040	\$2.15	\$27.95	BMI 11930	\$4.48	\$58.24	MIDLAND INDUSTRIES 56162
87	Galvanized Nipple 2" X 4"	37	\$17.07	\$631.59	BRECCO 550-155-10080	\$2.60	\$96.20	BMI 11940	\$5.44	\$201.28	MIDLAND INDUSTRIES 56164
					330-133-10080	<u> </u>		ı 13 4 0			50104

Item	Description	Est. Annual	Unit Cost	Extended Cost	Manufacturer and	Unit Cost	Extended Cost	Manufacturer and	Unit Cost	Extended Cost	Manufacturer and
88	Galvanized Nipple 2" X 6"	QTY 66	\$25.30	\$1,669.80	Part Number BRECCO	\$3.85	\$254.10	Part Number BMI	\$8.07	\$532.62	Part Number MIDLAND INDUSTRIES
	Galvanized Nipple 2" X 8"	53	\$41.31	\$2,189.43	550-155-10160 BRECCO	\$6.30	\$333.90	11960 BMI	\$13.15	\$696.95	56168 MIDLAND INDUSTRIES
	Galvanized Nipple 2" X 10"	53	\$48.30	\$2,559.90	550-155-10240 BRECCO	\$7.35	\$389.55	11968 BMI	\$15.37	\$814.61	56170 MIDLAND INDUSTRIES
	Galvanized Nipple 2" X 12"	164	\$55.41	\$9,087.24	550-155-10320 BRECCO	\$8.40	\$1,377.60	11970 BMI	\$17.64	\$2,892.96	56172 MIDLAND INDUSTRIES
	· ·				550-155-10380 BRECCO		·	11972 BMI			56174
	Galvanized Nipple (All Thread) 3"	2	\$44.60	\$89.20	550-155-10760 BRECCO	\$6.80	\$13.60	11021 BMI	-	-	
	Galvanized Nipple 3" X 4"	4	\$59.52	\$238.08	550-155-10820 BRECCO	\$9.05	\$36.20	11024 BMI	-	-	
-	Galvanized Nipple 3" X 6"	1	\$73.38	\$73.38	550-155-10900 BRECCO	\$11.15	\$11.15	11028 BMI	-	-	
	Galvanized Nipple 3" X 8"	2	\$75.15	\$150.30	550-155-10980 BRECCO	\$15.00	\$30.00	11030 BMI	-	-	
96	Galvanized Nipple 3" X 10"	2	\$75.15	\$150.30	550-155-11060 BRECCO	\$17.10	\$34.20	11032 BMI	-	-	
97	Galvanized Nipple 3" X 12"	1	\$84.50	\$84.50	550-155-11140 BRECCO	\$19.25	\$19.25	11034	-	-	
98	Galvanized Nipple (All Thread) 4"	3	\$44.56	\$133.68	550-155-11160	\$10.15	\$30.45	BMI 11041	-	-	MIDLAND INDUSTRIES
99	Galvanized Nipple 4" X 4"	1	\$53.26	\$53.26	BRECCO 550-155-11200	\$12.15	\$12.15	BMI 11043	\$25.43	\$25.43	MIDLAND INDUSTRIES 56223
100	Galvanized Nipple 4" X 6"	1	\$66.04	\$66.04	BRECCO 550-155-11280	\$15.05	\$15.05	BMI 114047	\$31.51	\$31.51	MIDLAND INDUSTRIES 56227
101	Galvanized Nipple 4" X 8"	3	\$78.80	\$236.40	BRECCO 550-155-11360	\$17.95	\$53.85	BMI 11050	\$37.61	\$112.83	MIDLAND INDUSTRIES 56229
102	Swage Nipple 2-1/2" X 2"	1	\$88.00	\$88.00	BRECCO 0338001605	No Quote	No Quote	No Quote	-	-	
103	Swage Nipple 3" X 1-1/2"	1	\$135.00	\$135.00	BRECCO 0338001852	No Quote	No Quote	No Quote	-	-	
104	Swage Nipple 3" X 2"	2	\$125.00	\$250.00	BRECCO 0338001902	No Quote	No Quote	No Quote	-	-	
105	Swage Nipple 4" X 1-1/2"	1	\$195.00	\$195.00	BRECCO 0338002272	No Quote	No Quote	No Quote	-	-	
106	Swage Nipple 4" X 2"	1	\$325.00	\$325.00	BRECCO 0338002322	No Quote	No Quote	No Quote	-	1	
107	Swage Nipple 6" X 2"	1	\$750.00	\$750.00	BRECCO 0338003221	No Quote	No Quote	No Quote	-	-	
108	Swage Nipple 6" X 3"	1	\$755.00	\$755.00	BRECCO 033800379	No Quote	No Quote	No Quote	-	-	
109	Swage Nipple 6" X 4"	1	\$775.00	\$775.00	BRECCO 0338003528	No Quote	No Quote	No Quote	-	-	
	BUSHINGS – Must meet ASTM 53 and ASTM A120										
110	Galvanized Bushing 3/4" X 1/2"	1	\$6.87	\$6.87	BRECCO 400-230-11840	\$1.55	\$1.55	BMI 36123	-	-	
111	Galvanized Bushing 1" X 3/4"	8	\$7.77	\$62.16	BRECCO 400-230-11860	\$1.75	\$14.00	BMI 36127	-	-	
112	Galvanized Bushing 1-1/4" X 3/4"	1	\$10.47	\$10.47	BRECCO 400-230-11980	\$2.35	\$2.35	BMI 36133	-	-	
113	Galvanized Bushing 1-1/2" X 3/4"	1	\$15.18	\$15.18	BRECCO 400-230-12100	\$3.40	\$3.40	BMI 36138	-	-	
114	Galvanized Bushing 1-1/2" X 1"	3	\$13.68	\$41.04	BRECCO 400-230-12080	\$3.05	\$9.15	BMI 36137	-	-	
115	Galvanized Bushing 1-1/2" X 1-1/4"	2	\$12.63	\$25.26	BRECCO 400-230-12060	\$2.85	\$5.70	BMI 36136	-	-	
116	Galvanized Bushing 2" X 3/4"	1	\$17.64	\$17.64	BRECCO 400-230-12240	\$3.95	\$3.95	BMI 36143	-	-	
117	Galvanized Bushing 2" X 1"	1	\$16.68	\$16.68	BRECCO 400-230-12220	\$3.75	\$3.75	BMI 36142	-	-	
118	Galvanized Bushing 2" X 1-1/4"	1	\$16.68	\$16.68	BRECCO 400-230-12200	\$3.75	\$3.75	BMI 36141	-	ı	
119	Galvanized Bushing 2" X 1-1/2"	3	\$14.64	\$43.92	BRECCO 400-230-12180	\$3.25	\$9.75	ВМІ 36140	-	-	
120	Galvanized Bushing 2-1/2" X 2"	3	\$23.88	\$71.64	BRECCO 400-230-12300	\$5.35	\$16.05	BMI 36146	-	-	
121	Galvanized Bushing 3" X 2"	8	\$32.20	\$257.60	BRECCO 400-230-12420	\$7.20	\$57.60	BMI 36152	-	•	
122	Galvanized Bushing 4" X 3"	9	\$70.92	\$638.28	BRECCO 400-230-12520	\$15.75	\$141.75	BMI 36156	-	•	
	UNIONS – Must meet ASTM 53 and ASTM A120				BRECCO			ВМІ			
	Galvanized Union 3/4"	1	\$18.90	\$18.90	400-230-09840 BRECCO	\$4.55	\$4.55	36105	-	-	MIDLAND INDUSTRIES
124	Galvanized Union 1"	1	\$23.50	\$23.50	400-230-09860	\$5.35	\$5.35	BMI 36106	\$8.82	\$8.82	64605
125	Galvanized Union 1-1/2"	1	\$40.92	\$40.92	BRECCO 400-230-09900	\$9.55	\$9.55	BMI 36108	\$15.36	\$15.36	MIDLAND INDUSTRIES 64607
126	Galvanized Union (Ground Joint) 2"	10	\$54.66	\$546.60	BRECCO 400-230-09920	\$14.40	\$144.00	BMI 36109	\$81.05	\$810.50	MIDLAND INDUSTRIES 64610
127	Galvanized Union 3"	1	\$144.00	\$144.00	BRECCO 400-230-09960	\$48.05	\$48.05	BMI 36111	-	-	
	Galvanized Union 4"	1	\$310.00	\$310.00	BRECCO 400-230-19290	\$104.30	\$104.30	BMI 36112	\$176.03	\$176.03	MIDLAND INDUSTRIES 64611
	Columnia de Courtie e (Coller) 2/4"		AF 2-	A= 5-	BRECCO	A 4.55	A 4.55	ВМІ			
	Galvanized Coupling (Collar) 3/4"	1	\$5.67	\$5.67	400-230-08500 BRECCO	\$1.30	\$1.30	36005 BMI	-	-	
-	Galvanized Coupling (Collar) 1"	1	\$9.36	\$9.36	400-230-08520 BRECCO	\$2.10	\$2.10	36006 BMI	-	-	
	Galvanized Coupling (Collar) 1-1/4"	1	\$12.87	\$12.87	400-230-08540 BRECCO	\$2.90	\$2.90	36007 BMI	-	-	
	Galvanized Coupling (Collar) 1-1/2"	1	\$14.64	\$14.64	400-230-08560	\$3.30	\$3.30	36008	-	-	
133	Galvanized Coupling (Collar) 2"	1	\$21.39	\$21.39	BRECCO 400-230-08580	\$4.75	\$4.75	36009	-	-	
134	Galvanized Coupling (Collar) 3"	1	\$58.20	\$58.20	BRECCO 400-230-08620	\$19.40	\$19.40	36011	-	-	
135	Galvanized Coupling (Collar) 4"	1	\$123.62	\$123.62	BRECCO 400-230-08640	\$41.25	\$41.25	BMI 36012	-	-	

Item	Description	Est. Annual QTY	Unit Cost	Extended Cost	Manufacturer and Part Number	Unit Cost	Extended Cost	Manufacturer and Part Number	Unit Cost	Extended Cost	Manufacturer and Part Number	
	TOTAL COST NOT TO EXCEED: (All costs must be included or your bid will be disqualified)		\$38,125.43			\$6,543.60			\$10,317.20			
	Delivery:			Stock to 15 Days			Stock - 2 Weeks			7-10 Business Days		
	Annual Price Adjustment:			8%			N/A			N/A		
Notes:												

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.